% = 252 Jehf9l oef 27, o] AL gafn 9t}
@ 35,48 2 2)0.35, 34 4.
® 3.05,4H 92 @ 053, 94

® 0.035, 98 I

A4=2 YERYH 0.35 "2 A4

2 9 Aoretn A&y,




@D 5.64,5.642,5.644 @5.74, 5.742,5.744
® 5.44,5.542,5.644 @ 5.742,5.744,5.746

® 5.73,5.732,5.734

B

0.001 4 AA 1 A5YTt.
AAA [ |=5.741-0.001 = 5.74

SHA [ ] =5.741 + 0.001 = 5.742
AR [ | =5.743 + 0.001 = 5.744




Qo] Aalo] 2747} 84, 44 AR Ae)e] $47} 15, 24 S 22 2]
2:717h 3, 4% AR A=) 9] 247} 352 48 oAl @

> E

[> ®eh: 85.565

(18 X 4) + (0.1 x 15) + (0.01 x 3) + (0.001 x 35)
= 84+ 1.5+ 0.03 + 0.035 = 85.565




) 28 cm = Dm
()6m750m Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @(1) 0.28 (2) 6.75
® (1) 2.8 (2) 0.675

B

(1) lem = 0.01m

28cm = 0.28 m

(2) 6m75cm = 6m + 75 cm
=6m+0.75m = 6.75m




271% oA stalol] 2w 0.3 kmE 2] 1, U 2] 0.6 km = A o)A
Uk 2714 "ellA stuztA] o] Aels 2 km ¢17] LHA] Q.

=

(2" Ag)+(Z22 A)
0.3+ 0.6 = 0.9( km)




£ 540

o %

olJ
L

0.37, 0.4, 0.29

0.43,

0.14

.

ul

Vg2 504301, 7}

wh2kA] 0.43 - 0.29 = 0.14 0]t}




T, &4 5 A 47F7H A3, 8180
B @ AL

807<[  ]<819 &5 % AYFL
8.08, 8.09 2 B% 2711t}




8.

ohe 2404 7 7o) Lrehie St utiuz

32.087

© 70 @ 7 ® 0.7 @ 0.07

@)o.007

%2t 70] UEHH= 4= 0.007 YUYt
31 A9 A - 30

D P A -2

: —LTERH 242 — 0.08

= AA 242 - 0.007

~N 00 N




9.

01 aeEA

rlo
2
in
Sl
o
i
N
)

® 10 9 % Ut @ 0.1 9 10 LT
(@)0,01 2] 1000 Bl J Yt @ 100 9 ﬁ Ayt

1
[©) o)}
® 1000 9] 1000 Ayt

B

1
@ 109 1—0—>10><0.1:1

©@0.19 108 - 0.1x10=1
3 0.012] 10008} — 0.01 x 1000 = 10

1
o —_— =
@ 100 2] T 100 x 0.01 = 1

1
10009 —— — 1 001 =1
® 1000 ] Toog ~ 1000 % 0.00




10. [ [etoll=o e 97
s

r]o ©
i—r‘

= A7}

7)0] 57} Solg 4 Y&Uth 2 S

@ 3] P © 40 © 397 |

® 0-6-© ® 0-6-0 ® ©-0-©
@)C-6-9 ® 6-0-0

o] 2] 2245 vl W) B ©e] 7H FYh
©2 [kl 02, &2 DOM 95 Yol= ©> O@YYth
webd, & £RE AR 7|98 28 0, @, @YY




11. 8 58 28 AR A2 5ol 54 o), SHig Hog
F

3.13, 100’ 2.85, 2E

>
> =gt 285

4
il

Mo

4 4 1
a4 s s o0a=304

100~ 100 100
8 8
2— = 2 -— = 2 O = 2-
10 + 10 0.8 s
304 8
14> "—>2 2—
3 > 100 > 2.85 > 10

wehA TR 22 = 2.85 YU




el

)A
H

oln

0.34 0.35 036 037 0.38

0.33

0.32
® @0.339 © 0.359 © 0.379

@ @0.332 © 0.358 © 0.371
@ 0.333 © 0.355 © 0.377

@@ 0.332 © 0.354 © 0.376

® @0.335 © 0.352 © 0.374

— [\
= ™
= [ap]
S S
m mH
2
o o|
TR
(R
=
G
Mo oF
™ ,uu,_
ﬂn ~
ald
Hlo w_rﬁ
o N
— N
ol o
= M
(@n) 0_1_
#
N
=
__0.._ ‘\W
fe so 9
oy 3
ol ¥ o)
o © o

AR em 2 0.354
A loer 2 0.376




13. o3 5 F 59 Fol 1 B} 2 A2 of= AJY7?

@® 0.70 + 0.29 @0.39 +0.62 ® 0.62 +0.37

@ 0.51+0.48 ® 0.54+ 045

D 0.70+0.29 =0.99 @ 0.39 + 0.62 = 1.01
® 0.62+0.37=0.99 @ 0.51+ 0.48 = 0.99
® 0.54 + 0.45 = 0.99




14.

9% 1.85L 7F E°] 9= Holl 1.47L & uhils Yyt dot ol
% L YA FsHA L.

v
n
=




1.365 + 2.717

[ 2
[> ®eh: 4,082




16. Tho-g utes] ALE AL 124,

(1) 418 -2.34  (2) 4.294 - 3.817

@ (1) 2.84 (2) 0.473 @ (1) 2.74 (2) 0.477
@) (1) 1.84 (2) 0477 @ (1) 1.74 (2) 0.473
® (1) 1.74 (2) 0.477

(1) 4.18-2.34 = 1.84
(2) 4.294 — 3.817 = 0.477




17. o= & Atto]l -1 A& ZoA L,

@® 3.46 4 0.38 = 3.84 (@)5.04 +10.7=6.11
® 12.403 + 3.95 = 16.353 @ 4.675 + 6.382 = 11.057

® 15.68 + 30.763 = 46.443

@ 5.04 + 10.7 =15.74




(1) 5.307-3.95  (2) 8.56 — 6.64

@ (1) 1.357 (2) 2.02 @ (1) 1.357 (2) 1.96
(@)(1) 1.357 (2) 1.92 @ (1) 1.352 (2) 1.96
® (1) 1.352 (2) 1.92

(1) 5.307 — 3.95 = 1.357
(2) 8.56 — 6.64 = 1.92




19. A4t 23t g A2 A9 7158 2AL.
@ 47405 © 8.2-225 © 3.862+0.2
> =
>3E: ©

@52 ©59 © 4.062
akebA, A A3t 4 AL A @elt




20.

2685 g = 2000 g + 685 g = 2kg + 0.685 kg = 2.685 kg

(F AFEe] 7h BA)=(3-2019] 7H BAN+(mlFol e 7H
A0

= 2.685 + 2.835 = 5.52( kg)

5.52= 0.01°] 552¢1 Fro| B2 ZFe L=TFo] 5527t A UH7iTh




